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B.A. (Part - III) (Semester - VI¥ yaminatign, March - 2018
SOCIOLOGY (PaperaXVi
Industrial Sociology

Sub. Code : 65714
Day and Date : Tuesday, 27 - 03 - 2018 Total Marks : 40
Time : 03.00 p.m. to 05.00 p.m.

Instructions: 1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Complete the following sentences choosing correct alternative: [5]

i)  The characteristics of modern industry is competition between machine

and

a) Worker
b) Owner
c) Agent

d) Engineer
ii) Mumbai Girani Kamgar Sangh was founded in 1890 by
a) Karl Marx
b) M.N. Lokhande
¢) M.N. Shrinivas
d) FE.W. Teller
iii) The lower most element of bureaucratic organization is
a) Industrialist
b) Supervisor
c¢) Worker

d) Farmer
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iv) An adult worker can work for _____ hour per week.
a) 18
b) 28
)38
d) 48
v) Industrial Dispute Act was passed in ______

a) 1947
b) 1948
c) 1949
d) 1950

Q2) Write short answers any three of the following:

a)
b)
)
d)
e)

Worker's role

Functions of trade unions
Nature of industrial relations
Industrial Dispute Act 1947

Effects of atomization

03) Write in detail answers of any two of the following:

a)
b)

c)

Discuss the aspiration of workers.
Explain the requisites of strong trade unions.

Explain the computerization's meaning and effects.
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B.A. (Part - IIT) (Semester - VI) E E"’mmgg_lion, M" rch - 2018
SOCIOLOGY “v._° ;ﬁyj
Penology (Paper - XV(B)) (New)

Sub. Code : 65714

Day and Date : Tuesday, 27 - 03 - 2018 Total Marks : 40
Time : 03.00 p.m. to 05.00 p.m.

Instructions: 1)  All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Choose the correct alternative and complete the following sentences: [é]

1)

1i1)

is the place to change the criminal.

a) Prison b) School
c¢) Temple d) Office
is a kind of Culturalization cruelty.
a) Punishment b) Westernization
¢) Institutionalized d) Modernization
True of punishment is to social cohesion intact.
a) Type b) Function
c¢) Benefit d) Characteristics

is the first prison established in India.
a) Nicobar Island b) Java Island
¢) Andaman Island d) Sumatra Island
Yeravada is the prison in
a) Puone b) Mumbai
¢) Chennai d) Delhi
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Q2) Write short answers of any three of the following questions: [15]
a) Theories of Penology.
b) Open Prison
c) .Development of Prison System in India.
d) Community based correctional methods

e) The history of police system.

03) Write detail answers of any two of the following questions: [20]
a) Elaborate the nature of penology.
b) Elaborate the Judicial system in India.

¢) Explain the characteristics of prison system in India.
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